Pl Dol il i DeLsa TiDeid a 5 .
‘ smya"ﬂ @ reviewerd@nptel.itm.ac.in «

NPTEL » Higher Engineering Mathematics Announcements  About the Course  Ask a Question Progress Mentor

Unit 8 - Week 7

Course outline

Assignment 7

The due date for submitting this assignment has passed. Due on 2019-09-18, 23:59 IST.
As per our records you have not submitted this assignment.

How to access the portal?
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Week 2 1) Whichof the following graphs(s) is/lare Hamiltonian? 1 point
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Eulerian and Hamiltonian

Graphs

(i), (ii) and (iv) only
Planar Graphs
Representation of Graphs (ii) and (iii) only

lsomarphic and

(1i), (iii) and (iv) only
Homeomorphic Graphs

Kuratowski's Theorem (i), (i), (iii) and (iv)
Quiz : Assignment 7 No, the answer is incorrect.
Score: 0
Accepted Answers:
Week® @, (i), (i) and (iv)
Week 9 . . . . . . 8
2) Whichof the following graphs(s) is/are Eulerian but not Hamiltonian 1 point
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(i) and (ii)
none

Mo, the answer is incorrect.

Score: 0
Accepted Answers:
()
3) The cycle or closed path that borders each region of the map shown below 1 point
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and the degree of each region are given by

F1 = {C% C}'I- ™ = [-A'r -D: C: C: 'D! E! B: A}! F3 = [:A! -D! EI B! A}
deg(r)) = 1, deg(r:) =7, deg(r) = 4

ri =(C,C), r =(A,D,E,B,A), ry =(A,D, E, B, A)
deg(r) = 1, deg(r:) = 4, deg(r;) = 4

F1 = {C% C}'I- ™ = [A'r-D: C: 'D! E! B: A}! F3 = [:A! 'D!EI B!A}
deg(r)) = 1, deg(r:) = 6,deg(r;) = 4

rn=(C,C),r=(4DC,C,D,E, B,A), rs =(A,D,E, B, A)
deg(r)) = 1, deg(r:) = 6, deg(r;) = 4

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
F] = {Cm C]'r = {Am D: C'I: C'I: -D: E: -'B: AJ: F3 = (A: -'ﬂ: E: B: A}
deg(ri) = 1, deg(r2) =7, deg(r:) = 4

4) The adjacency matrix of the graph in the figure below : 1 point
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Mo, the answer is incorrect.
acore: 0

Accepted Answers:
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5) T he undirected graph corresponding to the ad jacency matrix 1 point
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is given by

Mo, the answer is incorrect.
score: 0

Accepted Answers:

6) T he adjacency matrix for the directed graph 1 point
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is given by
T Uz Uz U4
m|0 0 1 |1
wp | 0} 0 1 0
w1 1 0 1
w1l 1 0 0

i1 e T, '{JL
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w0 010
wll1 110
T4 L-] 1 0 1_

vy vz U3
ml|l0 0 1
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mll 0 1
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Mo, the answer is incorrect.

score: 0
Accepted Answers:
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7) Whichof the following pairs of graphs(s) is/are isomorphic 7 1 point

(i), (ii) and (iii) only
(1i), (iii) and (iv) only
(i) and (iii) only

(1ii) and (iv) only

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
(iii) and (iv) only

8) The maximum number of edges possible in a planar graph with eight vertices is 1 point
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Mo, the answer is incorrect.

Score: 0

Accepted Answers:

18

9) W hichof the following graph(s) is/are nonplanar? 1 point
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(i) and (ii)

(i) and (iii)

(ii) and (iii)

all (i), (ii) and (iii)

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
all (i), (ii) and (iii)

10) Consider the travelling salesman problem for the graph shown in the figure below : 1 point

T hen the cost of tour is :
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55

Mo, the answer is incorrect.
score: 0

Accepted Answers:

820



